BC @203 L3 HwW SoLuTiensS

1. Let % = 0.006,(200 — P) with initial condition P = 8 people when ¢ = ( years.

A. Write the function P(t).
B. What is the size of the population when it is growing its fastest?

C. What is the rate at which the population is growing when it is growing the fastest?

D. Find lim,__ P(¢)
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2. Let fg =1200P —100P* with initial condition P = 4 eggs when ¢ = 0 months.

A. Write the function P(t).
B. What is the size of the population when it is growing its fastest?
C. What is the rate at which the population is growing when it is growing the fastest?

D. Find lim,_,_ P(¢)
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3. Al certain rumor spreads through a community at the rate %'— 2y(1-y), where y is the

proportion of the population that has heard the rumor at time7 hours.
(a) What proportion of the population has heard the rumor when it is spreading the fastest?
(b) If ten percent of the people have heard the rumor at time ¢ = 0, find y as a function of .

(c) At what time # is the rumor spreading the fastest?
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